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Ideals for irreducible component#ﬂ)f Xpar

I = (u®® +u® 4+ 2u? 1)

* 1 irreducible components of dim¢ = 0, with total 56 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} = (u® +u®® + ...+ 2u? — 1)

(i) Arc colorings

—u" 4+ 4ud — 4ud + 2u
uw —3ud+u

w’ — 4ud + 4ud — 2u )

ayp =
ag = \ —% +5u” — Tud +2u3 +u

ul® — 11016 + 484! — 107u? + 133u® — 95u8 + 3448 — 2u* — 3u2 + 1
—u?0 + 120 + -+ 5ut + 2u?

u?? — 14wt + - — 4 — 2u>

ag = \ —u® +13u? + - - 2u® +u

u® — 28u®® + -+ 6u + u

az = \ —uf7 +29u? ... — 20 +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*? + 132u°° + .-+ + 12u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® 27U - du 1
Co,C7 WO+ w1
3 u® — w4 10u — 1
C4,Cs5,Cg u56+u55+_._+2u2_1
€10, C11
Cs u’ + 3u”® + -+ — 168u — 11
Cg, C12 u 4+ 5u”° + - 4 180u + 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y*0 +5y%° + -+ 20y + 1
C2,C7 y56—27y55+--~—4y+1
C3 y56_3y55+_132y+1
C4,C5,Ce O — Ty 4 —dy 41
€10, C11
c8 y°% +17y%° + ... — 34956y + 121
Co, C12 y°% +33y%° + ... — 26332y + 1681




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —1.000570 4 0.0444151 5.23276 — 0.919331 15.9080 + 0.1
u = —1.000570 — 0.0444151 5.23276 + 0.919331 15.9080 + 0.1

uw = 0.911585 4+ 0.3754811

—1.58449 + 11.376801

6.00000 — 9.668291

u= 0.911585 — 0.3754811

—1.58449 — 11.376801

6.00000 + 9.668291

u= 1.012670 + 0.0884061

3.47067 4 5.612321

12.19644 — 6.381971

u= 1.012670 — 0.0884061

3.47067 — 5.612321

12.19644 4 6.381971

u = —0.905678 + 0.3613261

0.84033 — 6.427011

10.11884 + 6.135761

u = —0.905678 — 0.3613261

0.84033 + 6.427011

10.11884 — 6.135761

u = —0.904513 + 0.3059281

2.52237 — 4.641711

11.91273 4 7.208221

u = —0.904513 — 0.3059281

2.52237 4 4.641711

11.91273 — 7.208221

u= 0.878496 4 0.3724371

—3.56192 + 3.497011

3.83737 — 3.805021

u= 0.878496 — 0.3724371

—3.56192 — 3.497011

3.83737 + 3.805021

u= 0.898756 + 0.2450461

1.83352 + 0.174021

10.78063 — 0.769741

u= 0.898756 — 0.2450461

1.83352 — 0.174021

10.78063 4+ 0.769741

u = —0.783787 4 0.3716051

—4.13801 — 3.029741

2.90976 + 4.774651

u = —0.783787 — 0.3716051

—4.13801 + 3.029741

2.90976 — 4.774651

u = —0.726144 + 0.3774431

—2.67936 + 4.780831

5.11849 — 1.991291

u = —0.726144 — 0.3774431

—2.67936 — 4.780831

5.11849 4 1.991291

u= 0.738844 4 0.3417261

—0.169675 — 0.0995011

8.43884 — 1.675851

u= 0.738844 — 0.3417261

—0.169675 + 0.0995011

8.43884 + 1.675851

u= 0.796382

1.22357

8.30190

u = —0.082668 + 0.5942871

—4.61691 — 8.093851

1.42454 + 7.004131

u = —0.082668 — 0.5942871

—4.61691 + 8.093851

1.42454 — 7.004131

u = —0.043832 + 0.5896871

—6.36398 — 0.238591

1.54426 + 0.225571

u = —0.043832 — 0.5896871

—6.36398 + 0.238591

—1.54426 — 0.225571

u= 0.076108 4+ 0.5750491

—2.15243 + 3.250701

4.40236 — 3.456121

u= 0.076108 — 0.5750491

—2.15243 — 3.250701

4.40236 + 3.456121

u = —0.379547 4 0.3246361

—0.88423 — 4.372531

5.84758 + 8.425391

u = —0.379547 — 0.3246361

—0.88423 + 4.372531

5.84758 — 8.425391

u = 0.083930 + 0.4848691

—0.48384 + 1.920951

5.05330 — 5.196711




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = 0.083930 — 0.4848691

—0.48384 — 1.920951

5.05330 4 5.196711

u= 0415514+ 0.1764371

0.918390 + 0.2853581

11.31774 — 2.713191

uw= 0.415514 — 0.1764371

0.918390 — 0.2853581

11.31774 4 2.713191

u = —0.201404 + 0.3894191

—1.41046 + 1.908451

3.11125 + 0.736781

u = —0.201404 — 0.3894191

—1.41046 — 1.908451

3.11125 — 0.736781

uw= 1.63514 + 0.065381 5.45645 — 3.318941 0
u= 1.63514 — 0.065381 5.45645 + 3.318941 0
u = —1.64865 + 0.063701 8.15629 — 1.242101 0
u = —1.64865 — 0.063701 8.15629 + 1.242101 0
u = 1.65013 + 0.080021 4.30534 + 4.634181 0
u= 1.65013 — 0.080021 4.30534 — 4.634181 0
u = —1.67906 + 0.094611 5.37634 — 5.280301 0
u = —1.67906 — 0.094611 5.37634 + 5.280301 0
u = —1.68308 10.1668 0
u = —1.68888 + 0.066301 10.96880 — 1.404601 0
u = —1.68888 — 0.066301 10.96880 + 1.404601 0
u= 1.68815+ 0.093691 9.93322 4 8.190691 0
u= 1.68815—0.093691 9.93322 — 8.190691 0
u= 1.68987+ 0.078401 11.65850 + 6.130191 0
u= 1.68987 —0.078401 11.65850 — 6.130191 0
u = —1.68911 4 0.098281 7.5229 — 13.22007 0
u = —1.68911 — 0.098281 7.5229 + 13.22007 0
u= 1.71055 4 0.009361 14.8813 + 1.12101 0
uw= 1.71055 — 0.009361 14.8813 — 1.12101 0
u = —1.71254 + 0.018331 13.1646 — 6.01197 0
u = —1.71254 — 0.018331 13.1646 + 6.01191 0




II. u-Polynomials

Crossings u-Polynomials at each crossing

c1 w4+ 27U 4+ dut 1

c2,C7 w4+ U+ 2 -1
3 u’l — w4 —10u—1

C4,Cs5,Co WO 22—

€10, €11
cs w0 + 30 + -+ — 168u — 11

cg, C12 u®® 4 5u” 4 -+ 4 180u + 41




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y?0 +5y° - 420y + 1
ca,C7 Y8 — 2Ty - — 4y 1
C3 Yo — 3% . — 132y + 1
C4,C5,Cp y56_71y55+_4y+1
€10, C11
Cg yPS +17y%° + - — 34956y + 121
Co, C12 y°% +33y°° + ... — 26332y + 1681




